Worksheet 9.5 Composite Transformations Prep Name Ke}(
Graph the image of A(1,—3) after the described glide reflection.

1) Translation: (x,y) — (x+2,5) 2) Translation: (x,y)— (x—4,y+3) 3) Translation: (x,y)— (x— 3 y+2)

Reflection: in the x-axis Reflection: in y= 2 Reflection: in x = 2
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The endpoints of CD are C(1,2) and D(5,4). Graph the image of CD after the glide reflection.

4) Translation: (x,7)— (x—4,7) C (—3 2) W) (3 ’-})5) Translation: (x,5)— (x,y+2) C (l L‘f) D (5 (ﬂ\i

Reflection: in x-axis Reflection: in y=x
32 ! ')“ Y z 1 3‘7 LY ys
S R | gt

L~ /’ . 3 i /

, = e f Bﬁ'{B,S)

BN, it
™o () e

Describe the composition of the transformations.
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The vertices of AABC are A(2,4), B(7,6), and C(5,2). Graph the image of AABC
after a composition of the transformations in the order they are listed.

8) Translatmn (x,9)—={x—4,y—~ 3)
Reflection: in the x-axis
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9) Translation: (x, ¥)—={(x—2,9)
Rotation: 90° about the origin”
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The vertices of AABC are A(3,1), B(1,5), and C(5,3). Graph the image of AABC
after a composition of the transformations in the order they are listed.

10) Translation: {x,y)—(x+8,y—85)

Rotation: 90° about the origin
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11} Translation: (x,y) —(x—-6,y+1)
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" Reflection: in the y-axis
I ) = sy
B (4,0) e P (”:’»‘(o)
e /R 4)
STV o oD T v id)
"{ / gx\: (“\";O) i‘{ %“\" (Mpr
i y‘:. | 0 (“%{}3 C - (“L\fw

' - " ‘ i L
Match the composition with the diagram, M(X\li sorg o fj@ A — A — ﬂ ¥
D.
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12) Translate parallel to £ then reflect in £..

14) Roiate about @, then reflectin ¢.

b

C.

3

79

A

3 Q

@

2N

¥

18) Rotate about &, then translate parallel to 7.

B

15) Reflectin ¢, then translate pexpendicular to ¢,

C




